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Can you work out how many
passengers are in each carriage?

e There are 3 passengersin the red
carriage.

e Thereis 1 fewer passenger in the
green carriage than in the red
carriage.

e Thereis1 more passenger in the
grey carriage than in the green
carriage.




Do any carriages have the same
amount?

e There are 3 passengers in the red
carriage.

e Thereis1fewer passengerin the
green carriage than in the red
carriage.

e Thereis1 more passenger in the
grey carriage than in the green
carriage.




